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ALTERNATIVE ENGLISH

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions as directed
(any seven) : ‘ 1x7=7

(a) ‘“There shallow draughts intoxicate the
brain.”
To what does Alexander Pope compare
‘shallow draughts’?
“The river glideth at his own sweet will.”
Which river does Wordsworth refer to
here?
“There’s a beverage brighter and
cleaner.”
What does ‘beverage’ mean here?
How does the speaker in the poem, A

Year’s Spinning wish to be remembered
after death?

To whom did Ulysses leave the
responsibility of governance of his
kingdom? '
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2. Answer any four of the followihg :

(@)

(b)

(c)

(@

8A/304

(2)

“Wert thou my enemy,
O thou my friend.”

Who does Hopkins call his enemy as well
as his friend? ‘

«.. the heart of me weeps to belong ...”
To what does the speaker in Piano wish
to belong? '

“And Woodthrush calling through the
fog/My N (Fill in the blank)

“I could risk blasphemy.”
What does the poet mean by the word
‘blasphemy’?

2x4=8
“Who his spoil of beauty can forbid?”
Who, according to Shakespeare in

Sonnet 65, is a spoiler of beauty and who -
can forbid this? .

What, according to Wordsworth, are the
possible reasons behind the fplaintive
numbers’ of the solitary reaper?

Give two examples of ‘mellow fruitfulness’
in nature as described by Keats in his
poem, To Autumn.

“Branches they bore of that enchanted
stem.” :

What does the ‘enchanted stem’ mean
here and why is it called so?

( Continued )

(e)

0

(a)

(b)

(c)

(d)

4. Answer the following questions :

(@)

A/304

(3)

Why does the poet call himself ‘Time’s
eunuch’ in the poem, Thou Art Indeed
Just Lord?

Name the things found on the body of the
Tollund man when his bodily remains
were recovered.

. Explain, with reference to the context, any
three of the following :

5x3=15

I listened, motionless and still;

And, as I mounted up the hill,

The music in my heart I bore, '
Long after it was heard no more.

And sometimes like a gleaner thou dost keep
Steady thy laden head across a brook;
Or by a cyder-press, with patient look
Thou watchest the last oozings, hours

by hours.

I cannot.rest from travel;
I will drink life to the lees.

... The glamour
Of childhood days is upon me, my
; manhood is cast
Down in the flood of remembrance,
I weep like a child ‘for the past.

10x3=30

How does Sonnet No. 130 express
Shakespeare’s unconventional approach
to female beauty and love?

( Turn Over )



(4)

Or

Examine Wordsworth’s treatment of the
theme of nature’s beauty in the poems
~prescribed in your syllabus.

Describe how Keats praise autumn as a
season of plenty, activity and melody.

(b)

Or

How does the speaker in the poem,
Remembrance express her dilemma in
being caught between past memories of
love and present obligation?

(c)

Describe how Tennyson depicts the
mariners’ experience in the Lotos island.

Or
Writé a critical appreciation of any one of
the poems given below :
() A Little Learning
(i) - Pied Beauty
(ifi) The Tollund Man

* Kk Kk
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POLITICAL SCIENCE
( General )

( Political Theory—I )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed :
ST AR et Sl S o

(@) “Politics is a authoritative allocation of
values.” It is associated with

Wi’awaﬁmwﬁm‘n”
%Wm—w@ra@mi’a
(i) H. Lasswell

425, FABEEA

(i) Charles Merriam
oPetR, R

(i) David Easton
Cofes B8

( Choose the correct answer )
(o= Tewh! R Shre )
{ Turn Over )
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(b) Which of the following is not a traditional
approach? . .

S PO AISTS RSN 7= 2
() Philosophical approach
e s
(i) Historical approach
AP e
(ii)) - Behavioural approach

SRR iR

e ( Choose the correct answer )

( 7 Teeor AR Sferedn )

(¢ Who is the author of the book,
Political Behaviour?
Political Behaviour T4 R X7
SICh
() Robert Dahl
b T
(@)  Arthur Bentley
N e
() Frank Kent
T &

( Choose the correct answer )

(o= Teach AfR S )

8A/322 ( Continued

(3)
(d) According to Bertrand Russell, Power is
G ICHAT TCS TS B
(i) the capacity to influence the action
of others
R IRRAS A/ R *[1 el
i) a certain kind of human
relationship
¢3 e (9 TWA oo

(iii) the ability to determine the
behaviour of others with one’s own
wishes

s Tre weR ek 1T F9R s

( Choose the correct answer )

( ©% Techt AR Sferear )

(e) Legitimacy is the basis of

ez fofs

(i economic power
AT FTOR

(ii) political power
JERATSS FASH

(iii) ideological power
oS TASR

( Choose the correct answer )

( ®= Techr AR Bferear )

8A/322 ( Turn Over )




(4)

“Rights are universal.”
“SfRFR AER 1
( Write True or False )
(% & SR o )

(9) “State is a necessary evil” Who is the

supporter of this view?
‘B GF AN TS 1 B TS @A WL
e -
(i) Liberalists
TR
(i) Marxists '
TR
(iii) Idealists
| R

( Choose the correct answer )

(o7 Teh TR Sfrear )
2. Write very brief answers on any four of the
following : 2x4=8
O R T SR W vy T o -

(a) Write two drawbacks of traditional
approach.

T3S FBSKA 51 TR B |
(b) Mention two of

behaviouralism,

SIOIRICTST BT 751 STCaoa Seard 3941 |

( Continued )

criticisms post-

8A/322

(5)

(c) Mention two sources of Power.

FIOR 151 B Sray 1

Write two differences between Power and
Authority.

O HF (JYOR & o7 ~14F7 forn o

(@)

(e) Write two features of Rights.

SRR 1 G e

Write two characteristics of Marxian
State. ‘

8 B 1 A o |

of
5x3=15

3. Write short notes three

the following :
O] AT o/ R @ TR6R 5 G fora

on any

Nature of Political Science
AT ﬁ'i?i%
Legitimacy

[SE]

(@

(b)

(c) Rights and Liberty

TR TF TR

Difference between Citizen and Alien

AR o RTINS

(d)

/322 ( Turn Over )




|
(6) |
a
(e) Social Justice f
e !
() Features of Liberalism |
TR ¢y
' )
4. Answer the following : 10x3=3
©TS TR Teq 4 ]
(@) What is Politics? Discuss the
philosophical approach to the study of
Political Science. 3+7=1
IS 7 IERfORER S wffRe gEed
SIS F1
Or / =iz
Describe the characteristics of
Behaviouralism.
SIS (ABPTTR 3 3841 |
(b) Define Power. Discuss various forms of
Power. 3+7=]
FoR ke fiw 1 wweR RR¥E RGN
SICATSA 347 |
' Or / %
What do you mean by Authority? Write
about the relationship between Authority
and Legitimacy. ' 3+7=]
T T B @ s o ReeR AR
o R foran o
8A/322

~( Continue¢A—48* /322

(7)

() What is Liberty? Explain the measures
for safeguarding liberty. 3+7=10

iAol {2 T THR AR TM F4 |

Or / &

State and criticise the liberal concept of
State. 10

183 SRR YRACHT A IR A 41 |

* Kk Kk
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EDUCATION
( General )

( Foundation of Educational Theories and
Principles )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed :  1x7=7
o TP et SepiR e o

(@) “Education is the process of the
individual mind getting to its full
possible development.” Who defined
this?

“grE G SHEIRRIR W
R et 17 Sfes I 2

BA/321 ( Turn Over )




(b)

(d)

(e)

8A/321

(2)

One of the sources of informal
education is distance education.

(Write True or False)

A S PR 9% B |

(= & =R foran)

According to Hegel, the State has
moral and political authority.

(Write True or False)

@R WO, IFI (ST I qeares
HEPTS el IR |

(9% & Srom foran)

What is the fuﬂ form of SITE?
SITE-R 372 et & 2

“The destiny of India is shaped in
her classrooms” was remarked by

" (i) National policy of Education,
1986

(i) Kothari Commission, 1964-66

( Continue8A/321

(3)

(i) Secondary Education
Commission, 1952-53

(iv) University Education
Commission, 1948

( Choose the correct answer )

SR SRFR RWEER cAFve B
T 1 RS IR ?

(i) IBT Bt A, svve
(i) CFIIRA AT, SdL8-VY
(iti) NIGRF e S, Svex-eo

(iv) Refmem st sar, sssv
( % Teaer T 341 )

() The first correspondence course at

the graduate level was started by the
University.

(Fill in the blank)

e sWaws mros T=oTe
TIRFCACH PRl e IRk |

(X 312 o 1)
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(4) (5)

(@) According to Plato, “Truth, Goodness a (d) Name two kinds of human values.

and Beauty are ultimate values.”
v TR ECET o1 e W foran
(Write True or False)

(ATOR TS, “STepel, Aol AF Gl 24

. Write short notes on any three of the

STfie e 17 following : 5x3=15
(W% (A em o) oo R o ffb v G o
2. Write very short answer of the following | (a) Tripolar process of education
questions : 2x4=g TN -
S PR SIS Tl T fore -

(b) Learner-centred education

(@) Write two differences between formal |
and non-formal education. Prm@-cef fraet

RIS e e e Ll (c) Objectives of distance education
Ml o | ' e

(d) Importance of cocurricular activities
in school

TEW 2bfrs v w51 TR S
0 ® e e Rgere e PPN Awmsarer

(b) Mention two defects of our present
curriculum,

(e) Freedom and discipline

TR TF LI

(c) Write tWo sources of open education.
T& P 701 St fora |

8A/321 ( ContinuegA /321 ( Turn Over )




(6)

Answer any three from Question Nos. 4 t0 9 :

2 R 49 11 99 FoeTe R (et fefbra T fora -

(7)

| 8. What are the causes of indiscipline in an

educational institution? Suggest some

measures for maintaining discipline.

4. Explain the nature and scope of 5+5=10
education. 14 frorpee SprRRITeR IRPEE & &2
Prerg oS o AP STacE <= o | SPIPT IO IR (PO Sl for |

S. Write on the importance of aims in |9. Discuss the role of family and school in

education. Explain the difference the inculcation of values among students
between individual and social aims of | in today’s world. 10
education. 555U s TS Q9-RER TES T ATTS
e R gve T B | R e R e e ofiw ot e
S SR T TS 1 I oy | el

What is meant by curriculum? Write on * &k

the different principles of curriculum
construction. 2+8=1)

TN T R @2 Mo srgegeR A
AT fora |

7. What are the functions of the school
towards the society and nation? 1

ST S IS 2ifS ot o IrfEd 62

8A/321 3 (Sem~1) EDN




3 (Sem-1) ECO

2017

ECONOMICS
( General )
( E.lementary Microeconomics )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions ‘

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

TS il e Tes famn

(@) What is Giffen goods?
iz w1 6 2

(b) What is real cost of production?
BT o Fe I R 2 ‘

(c) Fill up the blank :
Indifference curve is
A $E o[ 0
s U ReE Fea _____ |

(d) What is isoquant?
R 1 R 2

to the origin.

A/320 ( Turn Over )




(2)

(e) In which type of market, ‘selling cost’
exists? .
TR RS RE W AT ?

() Who gave the concept of ‘quasi-rent’?
SR QTSI YO CIICH SToREIRfReT 2

(@) Who propounded the uncertainty bearing
theory of profit?

ST SIS IZ TGB! (I SRR ?

2. Answer the following questions :
O 2ppTRE Sl
(@) Define comparative static analysis in
Economics.

SRS FEIETed
foran 1

(b) What is meant by expansion path?
TR o9 e R 3w e

{c) Mention two characteristics of oligopoly-

T Reror a7 1 (3FE Tras 11

(d) Explain two factors which determine real
wage.

4T TR RFEIPR 101 Sore TR M

8A/320

wﬁ#ﬁm«m

2x4=§

(3)

3. Answer any three of the following questions :

©oTs furl erpTyRd R e fefab T fim :

(a) Define equilibrium. Distinguish between

(b)

(c)

@

(e)

( Continued /320

5x3=15

stable equilibrium and unstable

equilibrium.
SNSRI g | AR seMeR W wifye
SNOR TEE LF 2141 1

What is indifference curve? Mention the
assumptions of indifference curve.
fwers @ B2 Reers @R SRR
TEy 901

“The monopolist is
Explain the statement.

“qeoloa IPTN g 71 RERR 177 SR
[ 40|

a pricemaker.”

What is production function? Distinguish
between returns to a factor and returns
to a scale.

TeAH T4 7 9B Beome AfSHH WIF q9R
AT e #N14F Crea |

1+4

Distinguish between economic rent and
quasi-rent.

RARE & WF P SR TE] A{1LH
<o ol

'( Turn Over )




(4)

wre i e R e fefbr Tew fam

(a) Explain the concept of dynamic
equilibrium mentioning its limitations.

MaoriR Ted IR N SR g’
0 0

(b) Explain the law of variable proportion.
R e sere RIFCE I 41 |

(c) Discuss income effect and substitution

effect with the help of indifference curve. 1

fARers (R RS U oeR WE AfeeEw

ST 11 | |
(d) Explain how price and output are

detérmined under monopolistic

competition in the long-run with the help
of diagram.

R AR THHS Tfmrs ™ oF |
Beoi (e R v =, B sree
I} '

(e) What are the characteristics of a perfectly

competitive market? Show the distinction
between market price and normal price. 54

- e TR RErR R Ry @ |

TN SIE FrORE T A 14T e |

" (f) Discuss the risk-bearing theory of profit.
' Mention its shortcomings. 54

oY HORF I OGO ARAGA F91 | WA

SRmerR SEy 79 |

* % &

8A—11*/320
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3 (Sem-1) EGA/323

3 (Sem-1) HIS

2017

HISTORY
( General ) .

( Early India up to 1200 AD )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Answer either in English or in Assamese
1. Answer the following questions in one word or
one sentence : 1x7=7

TS Al 2R BT bt > i Bt TS e

(a) Wh6 was the first ruler of Nanda
dynasty?
T IR AT TP (I SRS ?

(b) In which place was the Second Buddhist
Council held? .

"8 (% T 'S P R 2

(¢) Who was Brihadratha? -
324 (T HifKE ?

( Turn Over )



(2)

(d) Who wrote Mahabhashya?

(e} Who composed Tamil Ramayana?

0

(9

2. Write briefly. on the following topics :

SR’ @A FRiRE 2

ofie aEEe’ @ FREE 2

Who was the most fammous Chola king in

Sangam age?

mﬂaqsﬁmwmﬁmww

@ HIfRe ?

Who was the founder of Satavahana

dynasty?
A ITR Ao T Wit 2

Wﬁmﬁmevﬁsmm:

(a) Town planning system of Indus Valley
" Civilization

(b)

(©

(d)

8A/323

g BorereR SRR Fo RwE
Mahayana form of Buddhism
Q=T TRRARPR
Pushyamitra Sunga

i o

Gurjara-Pratiharas
S-S

(3)

i|3. Write short notes on any three of the
Il following : 5%3=15

o] R e RBFeR oy et forar: -

(a) Position of women in Rig-Vedic society

4%-Cafie TS WA T

'(b) Chandragupta Maurya
vHae G

(c) Gandhara School of Art
oA e

(d) Chola administration
A B S I R £

(e) Mihir Bhoja
Rk o=

. Answer any three of the following questions :
10x3=30

Wmﬁm%ﬁﬁﬁwm:

i (a) Discuss the basic features of the
r; economic life and living pattern of the
Indus people.

Prprerer R wales  3Rarm 313
GBI QRTYRT S SCaAw 9997 |

( Continueqf 323 . 4 ( Turn Over)




(4) 3 (Sem-1) SAN

(bp) What do you mean by Dhamma of | ' 2017
Ashoka? What were the measures he |
introduced for the propagation of his SANSKRIT
Dhamma? ’
SR 4 R R @7 @ 6 2PRe I ( General )
¢ R R 3w e 2 .
' Full Marks : 60
{c) Whom do you regard to be the most- .
powerful king of the Kushanas and why? . Time : 3 hours
Discuss.
The figures in the margin indicate full marks
Wwwmwﬁmmﬁw for the questions
e Pl iz w31 =% R 2 SIe=esn <=0 '
v ' 1. T i i Assamese one
(d) Narrate briefly the history of the : r[ansme into English or Ass any -
conquests of Samudragupta. tra from each Group : -
TEeYs e oeet sie T 71 TS MR {1 BT T3 [ I AR S
| ¥_M: '
(e} “Dharmapala was the greatest of all the
kings of the Pala dynasty.” Do you. Group—A / N1
support this view? Give reasons for your
answer. (a) i GEREhRRRE e
e ATROT SORSE Ty w1 T W
R @3 WI PR FWH? fig AT
. T* (b) ARl Fshg: gabEstem: |
| < A

() Who were the Chalukyas? Narrate the | Q1]
history of the Chalukyas of Badami. Group—B /

SRR m wifee?  ImER m’ (c) T SRR @ SRAR: |

Nkl | gaamT ghie: |l
‘ ek | (@ i 3 gw o et oo
8A—13*/323 3 (Sem-1) afer¢ear fam R
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2. Answer the following questions as directed : 1

(2) (3)

3. Explain any two of the following Mantras, taking

. one from each Group, mentioning the name of the
et PR oo erfRened Te 3 -
N Seer, the Metre and the Deity in each case :

(a) How many Mandalas are there in the " §%2=10
Rgveda? ¥R, T OF (ROR TN T TR o ARCE M
“YTITS (D! T IR ? R T g T 55 B T 0

(b) Name one Upanisad of the Rgveda. Group—A / F—it
Y 4 et o () ot e RARR dmeafar 7o

(c) How many Aksaras are there in the metre ?’j’f =
Gayatri? . .

(b) ¥+ R st g &)
07 . - - —
| R RS (1 ST AR T T @l

(d) Who is the first deity being propitiated in the Group—B / %—at

Rgveda?

TS 2T I (TSR TS T 07 ? (e) 13t gt et R gt

. Cixiltnicedl
() In the Rgveda, maximum number o :
' Mantras are directed to Agni/Indra. (d) T @ gar 99 TR T
. ( Choose the correct answer ¥ gt R
‘e RSl AR T wR/2mr Smwen Answer any one of the following : 10
e e ) o R GG @B e T 9
( Yo% Taach b Shred : -
(a) Prepare a note on the Seer, Metre and the

(f)  Fill in the blank in the following Mantra : Deity of the Agnisiikta of the Rgveda (1.1).
OO THBTS X1 1R S o I Ay WP (5.5)7 TS IR, ww e

Pt ol | CROR 8oF® b GBI 28O AT |
8A/319
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(4) (5)
(b) Present a summary on the Vayustikta as you 8. Answer any two of the following : 10%2=20
have found in your text. @ R GPICAT Y1 2R BT 1
COMI AR CNIRT LTS SoiFS «ft AR
R Bferedt 1 (a) Prepare a note on “TEH4:".
: ' ‘oMY © 3
S. Write short notes on any two of the following : RS b T 21 4
o A e i 3 et ot 2"27% (b) Present a discussion on ‘WM.
o R e : :
i TARFT SRS 5 AT SISRCEH] |
(a) =Y :
(b) wd | . (c) What is I9%? What are its types? Present a
(c) N . . note on T9Y.
(d g ‘ : srorw 2 R o & R aors eome
' «fb CBrT SISRTGRT |
6. Choose the right answer :
o% TeTchr A Shved o (d - “gaEEr T ww
The Tarkasariigraha belongs to the Nyaya / ' Explain it clearly.
Vaiesika / Nyayavaiéesika system of =gt oz fordi |
Philosophy. ok x
R AW/ eRE [ TRReIRT e
el y _
7. Explain any one of the following as given by
Annarnbhatta :
TAReER fal 4 o R Qe @b it 4 ¢
(a) & Tyt gRe)
(b) FAIFCHTET |
8A/319 ( Continuedga_ 7007319 3 (Sem-1) SAN

Al



3 (Sem-~1) PSY

2017
PSYCHOLOGY
| ( General )

( Introduction to Psychology )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Read the following statements carefully and
state whether True or False : 1x7=7
O PR AR I 7)1 7] et 37

(@) Wilhelm Wundt is the founder of
modern psychology.

BT aTeb Wiy WeReeR  afddrer
R | -

(b) Psychology is a hybrid science.
TR @Ry 37T e |

(c) Behaviourism - emphasizes on
consciousness.

BRI BFY X5 6T |

{1326 | ( Turn Over )




(d)

RSP R el T A ey |

(e)

 wRITT | |

() Gestalt psychology was founded by
Francis Galton.
TR WARERY KR wifte @Rp
CoRTHA | :

(g) The neuron transmits information from
one location to another.
ST GOTRT <11 SWSRLT AT (o 3T |

2. Answer the following queétions : 2x4

(@) Who is a psychologist?
TR @ 2

(b)) What is an interview?
e e

() What do you mean by case study?

T e Rer I o R e

(d) Name three pa.rté of a neuron.
RIS FOfA01 S A o

8A/326°

(2)

Illusions are the examples of perceptual
processes.

Our first contact with the physical world
is through language. '
OIS oo w9® WNH AW AR SAR

(3)

3. Write short notes on any three of the

following : © 5x3=15
wore frarrRd R e fofer sore oY GGt o -

(a) Perception
oaor®

(b) Observation method
A oS

(c) Lobes
e

(d) Psychoanalysis
TCAIRCRRM

(e) Clinical psychologist
iR Jeaiena

Answer any three of the following questions :
' 10x3=30
o oPRe R e R Bes fan

(a) Describe the different branches of
psychology.
YIRS RSy MR IfTMF 1

(b) Discuss the characteristics and types
of interview method.

ATFISFR G CIFET WP AP SCABA
I

( Continugp /326 : ( Turn Over )




(4)

Draw a neat diagram of the human eye
and describe its process in detail.

T 539 «ft 7 =R o ok TR R 1wl
A 0|

()

What is an illusion? Explain its types.
R 2AerF fF 2 TR APRCER TP F9011

d

Define Psychology. Discuss the goals
of psychology.

TEREFY e g | TAREEe SRR
HICAA 90 | ’

(e)

* Xk

3 (Sem~1) SOC (N/O)

2017

SOCIOLOGY
( General )

( Introduction to Sociology—I )

Full Marks : 60

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

( New Syllabus)

1. Answer the following as directed : 1x7=7

wore AR R SRidt Tes fora

(a) Which one is an example of social
institution?
R oT© st e xR T 2
(i) Caste/®if®
(i) Family/+Ram@
(i) Marriage/R32 _
(iv) All of the above/S$IT AFCAIRR
(Choose the correct answer)

(o= Teehr AR Sfreq)

8A—500/326

3 (Sem-1) PY
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(2)

(b) = Which of the following is not an agency (@

of socialization?
TR fSoTe @M AfESiesrq AR 72 2
(i Family
AT
(i) Peer group
T3 RR |
(iii) Police
*[fets

(iv) School
Rmrer

(Choose the correct answer) |

(w7 Tt AR Sferean)
(c) Caste-based stratification is W)
wIfeste BT 2'a
(i) -ascribed
wagwe
(i) achieved
&
(iii) open
1%

(iv) neither open nor close

TS 31 37 71y
(Choose the correct answer)
(wm Teach iR Sferen)
8A/324 ( Contim,u",3 24

(3)

Who propounded the

‘social physics’?
‘Social physics’ 7! (FIC S9RGIRME 2
(i) Saint-Simon
BT-=IZA
(i) Auguste Comte
98 5
(i) Herbert Spencer
b o
(iv) Max Weber
G @]

term

(Choose the correct answer)
(= Teaeo qife Sfenear)

Who is the author of the book,

Social Control?
Social Control A7 22474 4% I 2
() E. A. Ross
.2 9. 3%
(i) Radcliffe-Brown
O -ZIT
(i) F. S. Chapin
9F. 9%, P
(iv) Pitirim Sorokin
bR s _
(Choose the correct answer)
(= Teeh! AR Bferear)
( Turn Over )



(4)
'(f) Who is the father of sociology? 3.
SEeEd e & ?
(g) Mention one feature of agrarian society.
FRER e 9o @FE SrEe T4 |

2. Write very short answers of any four of the
following questions : 2x4

were frgl B i oifot e oS o Twg for

(a) Mention any two characteristics of
social class.

AMIEF T & e 701 ¥Ry Soag 41 |
(b) What is the meaning of quasi-group?
P -T9R e [ 2
(c) Mention two means of social control.
IR FREeR 101 $om Srage 4 |
(d) How is competition important to society?
Discuss. -

ATEre 2AfSERITeR @Fg N 2 SIcEsar 17 |

(e) What is material culture?

T A 2

() Mention two differences between
authority and power.

TR HE TAOR YO YBI A< Sray 791 |

(S)

Answer any three questions of the following :

5x3=15

were frar R e foftt ame Tws for -

(@)

(b)

(c)

(@)

(e)

8A/324 7 ( Continu/ 324

|
|}

Describe the relation between Man
and Society.

2 SE AIES &S T2 Iof1 7 |

How is Sociology related to Political
Science? Discuss.

Eeg HE qEeAee [R@WE T 59
AT 41 1

Write a note on ‘reference group’.

‘ePiRel AR’ R GO CBreT o |

Distinguish between Folkways and
Mores.

IR SF GO JEre 212y 3 2

Discuss the relation between status
and role.

2if&fS o PR Aere FT@ S0 74 |

( Turn Over )



4. Write descriptive answers of the following :

(6)

10x3=

oo TAaAEE e Teg o

(@)

(b)

8A/324

Define sociology. and discuss its field
of study. 3+7=

Eogd TRE MH WF [WE FEEeRE q
IRREE IR (S (o o i s i
Or / 941

What do you mean by social groups?
Mention the differences of primary group
and secondary group. 3+7=

e R I @ e e e

RORR =T NI Seard 41 |

What do you mean by socialization?
Discuss the role of media as an agency |

of socialization. 2+8=
eI e & @2 ANERieeTe o[
T SRS e, AT 41 |

Or / 92=1
Define culture. Discuss the basic |

elements of culture.

TR e | e ym Semeeng |
s f, wncemsen =

Continuj
{ on U?A/324

(S71)

Why is social control necessary for
society? What are the types of social
control? Explain with examples. 3+5+2=10

IR EEe e fEgR  darsse

e ? e ke free e
R s==i2 ot |

Or/ 941

Discuss elaborately the role of conflict
and competition in social life.

TNt Game W W dfeq@ieor i
(R0, IZET12 I 41 |

10

{ Turn Over )



1. Answer the following as directed : 1
| wore frarearRs ot s Sey o
(a) The author of the book, Course de

(b)

8A/324

(i) North-Eastern Hill University

(8)

( Old Syllabus )

Philosophie Positive is
Course de Philosophie Positive J83%q
o == |
(i) Herbert Spencer/zH6 ¢ oR
(i) Auguste Comte/S58 $5 ‘
(iii) Emile Durkheim /2% 730dd

(Choose the correct answer
(= Tech AR Eferear

The Department. of Sociology was'
started in North-East India at firs
in the
TeT-7[7 SRS (ML Mrereyg ReIICH SRS
et

Te3-R TS ReRmyopre
(@) Dibrugarh University
Repare RraRwrerrs

(@) Tezpur University

(9

(c) The basic element of culture is

T o Tofr XA
(i mores
GRS
(i) education
k|
(ifi) belief
St

(Choose the correct answer)

(= Teach! AfR Bferean)

(d) “Society is a social group.” Who said
this? '
‘e GO TR 1 ST e LR 2
() Wrights
e
(i) Arnold Green
et Rt
(@) H. M. Johnson
5. 3. T
(iv) Max Weber
& @N

(Choose the correct answer)

(vm Tetol AR Bferean)

\/324 ( Turn Over )



(.10) ( 11 )

(e) University is a/an institution / 2. Answer the following questions : 2x4=8

association / system. ' o AR Teg fora -

(Choose the correct answer) .
(a) Define social class.

U U A T i o |
(= eI an‘-’\? %f%@) (b) What are the differences between
iol d Anthropology?
(1 “Sociology and Anthropology are twin Sociology an thropology
TESg HIF TOGH T AP F 2

sisters.” This statement was made by
{c) Write the importance of norms.

‘IETeY W oy 16 SqERe | <3 SRE

IR 2Af ST Sy o |
(i) Auguste Comte (d) What is .;the difference between caste
=518 5B and racer:
wIfs S 2wt yres #A1fFT 2
(i) Max Weber
¥ @® 3. Write short notes on any three of the
following : ; 5x3=15
(ii) Arnold Green s
s e ©eTe fral R (e fofabm 5y et forsi -
(DINTaltote Parsans (a) Characteristics of tribal society
CBETFD “AT6TD SISO TSR AFEPTR
(Choose the correct answer) (b) Weberian theory of social stratification
@R ANESE we91 Fram
(W TeIeh! a1fk Seaan)
(c) Role of conflict in society
() Give an example of closed stratification. SIerS ARYHT "\ff‘\ﬁ'ﬂ
T GRGER O e B (d) Status and values
AR o 2fyen
8A/324 ( ContinueN\ /324 ( Turn Over )

m



(12 ) 3 (Sem-1) ASM

4. Answer any three questions of the following :

10x3= 2017
wore frg R e o6t 2w Te forn -

ASSAMESE

(a) Explain how far Sociology can be
considered as science.

Wmﬁwmﬂﬁmw
MR, I I

( Modern Indian Language )
Full Marks : 60

(b) “Society is the web of social Time : 3 hours

relationship.” Discuss the statement.
‘omre TGS TR W s 3w 1”7
TReCHT ST F | :

The figures in the margin indicate full marks
for the guestions

5y Teq fa yxq=9
(F) TR SEEE FH PR IR ?

(¢) Mention the differences between
association and community.

mwwwwmw

w (¥) TRy @ERFIR T FH 570 (227 ?
(d) Discuss the importance of the process
of cooperation in social life. () R oReBRT a3 sRer-ofR T Fr

1 (}) ‘afems oR o oA IR T T/ 2

(e) Define Sociology. Discuss in detail the (8) <o FRIYTIT /F @FA?
emergence of sociology. .‘
e e 7 | ey SRERT Ry | () AR 1 (A o SR 2
IR ST F41

/M ‘Noble Numbers’ {ﬁr I
fafeet 2

* % %

8A—1000/324 3 (Sem-1) SOC ( (Turn Over)
rm Over




(2)

3| oy T forr

) o IS oIS A
coR o7 Y oIt BaT ¢onfRq 1

R 5L 7741 |

IX 8=}

(2) <R DI SYIORT T3 FRIFT I 71 1

(1) omae T TR G S R S g 2
+FRSEIS TR TR T B |

(7) TREAA TR 4@ € &7 ‘comm
TS’ IJINCBS F 191 I =7 2

o 1 oPT-rfe iR T T (R e ) -

() gt IR Per AT
‘ 7S] et Pt fifia 2
TR E AL/

ExX9O=3¢

() “QICA-TIC, *RCHA-SCACA 9% ([
LR ERS Ce)
F-fig Seecs 12 ol | ,
Fres wer 12 R [Rfaeky 1

(<) ‘SR SR T SRS R
SN IR SIS 77 381 SR P 551

8A/308 ( Continued )

(3))

&) “ofST ERR R IR,
P @R TS AR

Too FEfles gen Ffeifee
O Gl I 17

(¥) “OPR ETS R OIS
PN 4T F[ |

TR TR W

3T TR AR W’

81 Wm%ﬁm(ﬁ@m%ﬁm: Soxw=vo

(F) Y =EERRE ‘R @’ IRO® (PRI
TereR et % eaizfie, o o

(}) e IR R FRedre FRT w0 -
fAremrR afoer Rsa TR R afSRfye
TR, e I

() cuiss IRe Boesr T=@ =@ R’
FROR G RCED ARG | :

(F) PR WOe MR [T oSS &R I7 @
(R FRY T TBT T TARIA “oir{iY’
FRerore R aer FRTe, e 4 |

8A/308 (Turn Over)




8A—63*/308

(4)

(&) T TS TS AT o e
‘o IR qeAeere R ’fﬁ‘*ﬁ
t{CiWWl

(6) e I ?Fﬁw%r@ R APST TR
F1 AR Rey 3961 ez, oM SIS o |

*kk

3 (Sem-1) ASM

. Eﬁ'ﬁﬁﬁi§331éﬁﬁQ:

—_——— ———

3 (Sem-1) HIN

2017

HINDI
( Modern Indian Language )

( Hindi Kavya-Dhara )

. Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1x7=7

() wehEw Pl wReer & sivle B &
=R

(@) godiem N 76T Heq-ur a4 27
(M =S v = 9 R w27

() v yoR 0 e vew wfya w1 W @

??
®) ‘e’ TwEEE F @R #E §
(F) ‘vosk’ =@ F wf ¥\ B
(®) ‘e’ = wrqel AW R R?

8A/312

( Turn Qver )




8A/312

(2)

2. 3fy Gfégw I difsm :
(F) ‘soiid’ fFa wega &7 we Hivm)

(@) ‘= & e’ Tww sl F HR T g
fra aifemn & R & @@ 37 T AR

() mf%ma%’wammw%?

(@) =R sfew @ ‘w=1' ﬁﬁammmﬁm
T &2

2x4=8

3. fefifea § 3 fedi 7 vt 3 SR AR 5x3=15
@) Mgm e’ F AWK W WE-F W
Wed-Toly i)
(@) todem f e’ %wm'@%ﬁﬁ
RF-wraa | e SR
(M) ‘Rege & i’ v w1 sRer e

(q).'mqm’mﬁmﬁﬁﬁam@wmavh
- Hhif)

(®) Eﬁ'ﬁw%ﬂﬁqﬁﬂﬁﬁaﬁﬂﬁ%m
it Fa {7
4. mﬁﬁm’m%mﬁmféwmm
# we i 10
o

DR O U T
- ST Hadt fiyem @ wiea AR

( Continued )

(3)

5. ﬁaw%ﬁm%ﬁa;éqﬂt@m-ﬂﬁhéwm

=S| 10

srerEn
TG TRe= & e ok Wik = aiew 4R

6. TYET =avem i

(=) ufeat # 4 o, vt 7 s
FoW 9@ W W dua T W R 7w wm)
A wE A FE T AQ, AT @ swE)
o Tt S@ @ I, FRen wheh § s
#1 & wy Pt TR, = & $aw @y
Jrerar

(@) & Bt = ¥ TR R R ¢,
' ﬁﬁam%mﬁqﬁmﬁ,

%Wmmamw
ﬁwcﬁmmi%rqﬁ;mr

10

* % %

8A—1500/312 3 (Sem-1) HIN




3 (Sem-1) NEP

2017

NEPALI
( Modern Indian Language )

Full Marks : 60
Time : 3 hours

1x7=7
(F) TETHEA-I AET demed d@
L2 RE .

(|) ‘THA-TE TR i e e A

(n) TR T T W g
wigarnt 9fe B?

() T IR R g e i R
=

(@) “ﬂmﬁm@,mﬂﬁm.m mn
—TiER i T R @

(@) ‘T -R o degEy)
(8) fsamn =R w1 Tl oA RrR?

8A/316 ( Turn Over )"



(2)

2. B W Ry :

(%) weht o T TR :
e @I
TfteTs Se SPIGHT 3RS T |

(@) d@ T deaTEE 4 g8 Fioh T Segerg)

(m  TegEwIPRTEgy

A W, I 3 TF I §G

—TforR! i 9RA wEe BT WA 87

“ww we @ Rt we o= sw A —a
FA FHiaast Ui T IEH B B F?

2x4=8

@

3. Ft @ R SW Rgey : 5x3=15

(%) WUEF AT TR ¢ -
agmﬂmmv:l@tﬁmg%‘ 1
| It
W, wifer ar ofif
~ argn R Seged
T G g
AT gATaTREaTs
T o yerRe
TAHSARA B, T B... |
—miirnt i it F Hia @ T T B
ﬁ@?q}vﬁa@mm‘?@m

(@)

8A/316 ( Continued )

. 4. (%)

(3)

T AEa qfa wiRen ae R iR
—m&aﬂ&ﬁmaﬂé%w@éﬂﬂ?
‘T IEnmf TR TS SwmEy mmaﬁé
W@%ﬁ@tﬁlﬁm‘?@m =
“af et W IR
R Sw R’
—RER dfte 3 wlamE @ T SRR ¥
B 37 WE TR

@ Pt @ ¥ lt-w =R S
FE T RAl B AR URAT SARH
TR

(m

(=)

(®)

10

\ m
‘AT AT AR Sege)
A R g wam wR@ [Ww 1 e
APHEATE HiATEH! ATURAT WE IR

It
7Tl & A wRam an dege|
‘R HAT W TdAM QS-S
Y Tl WER R S WE TR

Jyan .
‘s’ iR AR SEgRR|

* %k Kk

(®)
10

(m
10

8A—1000/316 3 (Sem-1) NEP




3 (Sem-1) BEN
2017

BENGALI
( Modern Indian Languagg )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
_ for the questions

31 ﬁt‘f"‘llﬂ?il@. T 1S - Yxq=9q

F) “ZH, oS, Bfe F o1 9 T
QI FEF TS’ &1 AR ?

() ‘IR T e 1”
(TR < FeT)

(o) =R TN H Im 02

(Q) “‘craen cEan oof 1 2% wer |

‘o &7
() emrs = Hre N 391 I A2
(%) R AR o ST 9T AW g
m@ﬁg 1”?

(== <3 3vzam)

(®) R ¥ N (TR FReW IR g T
I e v W MNE I AR
‘c'«‘cam?

8A/310 ( Turn Over )




(2)

R | Y Teg e Ix8=tr

) ‘Ao oIS oft =IfS Reer 1
T T ? PO’ S I QRICAT AR ?

(X) S8 v T e FRem IR @2 S®
T FRIAR (ICF “Nonifs (Fea 2= ?

(%) = o e
- YR TR G IR ITTE @
: HOICS
— 3 wm; gon ee vE Aty
*Gm;”°
(M) ‘omm wifR @ T IR oRilke o
AT 4fS R W R |
© | Bt S bew ms (@ e R - Exo=s¢
(F) 1erme m Fe|
A SIS I |

oW IS e et o s
() “qod A1 2T IR o |
¥R Rifdee e Faz 29 0”

IR IRT T @ ‘Rfke fie
SR o FteR SR Gt |

() Steprer s 3wzt -

“fe gz I, ST, OIS OFR ?
BRICH 318 I A ey 2°°

8A/310 ( Co;ztinued )

(3)

(@) e Rm v :
TR TFINCA LACRCS, SR, S8

(e)

81 (¥)

()

¢l (F)
()
8A/310

MR

IR O T (O O FOfReT Far

AL [ P! :

&= 17

‘i SRR A

fom A& 0O I G (OO R 0w ol
AETR 7t Ao Si6FeT YT O O

TR oI 17

SR o FReW A WL P
Wmm&cmmﬁmrw

oeRT
AP IR IR SR IRCR SR
R CeS I | so
FR oRem Tl Y xR,
SICHATGT T | So
23T
GRE WP R Afe Rl oree R
FCEI | o So

( Turn Over )



(4)

o1 (F) e A TR NHF FRew IRT wEHeIce
: IR @ Rew wweifer I R 2o o Bge

. @
o7

() ‘omemer AT T por T oRem
- ReReE R e |

* % *

8A—2000/310 3 (Sem-1) BEN

S0

S0

3 (Sem-~1) HIN L
2017

ELECTIVE HINDI

( Hindi Kavya-Dhara )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Qo 9 & Wi .
(+) TR’ R w27 |
@) “% @ = @ el B R fhw
i Y i 27
(M) = R R wwt Sz e T }7
(%)

%@ﬂﬁiﬁ%aﬁmﬁmﬂ( T’ fradht wm
a7 -

1x7=7

() ‘“Sum’ PI-TEE fF oo W amarie 27
() T w apf am o &
(®) ﬁawwﬁa%maaﬁaﬁw”—m
3fw {7
2. @ d W AR :

. 2x4=8
(%) Wﬁﬁ%ﬁﬁmsﬁma@&a%u

8A/311

( Turn Over )



(2)

(@) o F q affRw fkvad fifew)
(M) ‘= Hi uftewl’ iy w1yl we fifng

(@) ‘v ok ek R F whm W araRE
| msﬁam@mwmmﬁml

3. el f7 vt & sm wege PR - Sx3=15

(%) P =l = q@ ww @ AR

(@) T gon wRwr’ wRa F sids Kt g
EE -

(M frmfy w1 dftm ks okeg dfm)

(@) “YeEw R ¥ A wR 37 sfE 6
refea wiga IR

(@) ‘o A e F mem ¥ oy TR
Rt w e $iftg)

4. WET e AR -
ENRIEEGE: LU
. g = 99 3
. Shed e e
s TR H g )
T G R st R F R
gl St it @ s S Rt % W
T 3 A i wE R & ar
BT T G i o Rt &

10

8A/311 ( Continued )

(3)

5. W%aﬁﬁaﬁtmﬁﬁmwﬁwwW
| . 10

o
m%qﬁfﬁmmmmsﬁm

6. TR’ For & TaF H b frdvarst w

eyl 10

Fgar

qgsrrm %mﬁﬁuﬁﬁmﬁﬂwﬁﬁm
ﬁ%ml

* & K

8A—500/311 3 (Sem-1) HIN L



3 (Sem-1) ENG L

2017

ELECTIVE ENGLISH B

. Full Marks : 60
* Time : 3 hours ,
The figures in the margin indicate Jull marks
Jor the questions

1. Answer any seven of the followh:xg as
directed : 1x7=7

(@) Which of the following is a dream
allegory?
(i) Cuckoo Song
(i) The Canterbury Tales
(iii) Pearl ’
( Choose the correct option )

(b)) Name the first play written by
Christopher Marlowe.

(c) She Wou’d if She Cou’d was written by
William Congreve. o
( State True or False )
(d) The first edition of the Lyrical Ballads
was published in the year .
( Fill in the blank )

(e) To which age do writers like Charles
Lamb and William Hazlitt belong?

' 8A/306 ( Turm Over )



(2)

‘When was Dickens’ David Copperfield

/.
published?

(g9 Name the poet who introduced ‘sprung
rhythm’ as a poetic mode.

(h) Who wrote Mrs. Dalloway and To the
Lighthouse?

() In which play by Osborne does the
figure of Jimmy Porter appear?

() When was Midnight’s Children
published?

2. Answer any four of the following : 2x4=8

(@)
(b)

(©
(d

(e)

(9)

)

8A/306

What is a dream allegory? Name any
one dream allegory written by Chaucer.

What is a revenge:tragedy? Name any
one revenge tragedy.

Name two of Pope’s :narrative satires.

Name two novels written by Henry
Fielding.

Give two examples of Gothic novel.

With which poetic form is Browning
associated? Give one example.

Name two novels written by D. H.
Lawrence.

Name one drama written by Samuel
Beckett and one by Harold Pinter.

( Continued )

(3)

3. Write short notes on any three of the -

following : 5x3=15

(a) Piers Plowman as a social docurment

(b) Humanism

() The ‘Metaphysical Conceit’

(d) Aphra Behn

() The Epistolary Novel with special
reference to Richardson’s novels

() The Bronte Sisters

(g9 Matthew Arnold

(h) Absurd Drama

4. Answer any three of the following :

(@)

(b)

8A/306

10x3=30

Assess the contribution of Chaucer,

Gower and Langland towards Middle
English literature.

Or
Write a note on the characteristics of
Shakespeare’s tragedies.

Give an account of Restoration Comedy

with special reference to ‘Comedy of
Manners’.

Or

Write a note on the contribution of
Daniel Defoe to the development of
English fiction.

( Turn Over )



(4) 3 (Sem-1) ASM L

(c) Give an account of the Historical Novel .
and evaluate Scott’s achievements as a 2017
historical novelist.

Or , ELECTIVE ASSAMESE
What is a personal essay? Write with
reference to the works of Hazlitt and Full Marks : 60

Lamb. Time : 3 hours
(d) Assess Dickens and Hardy as novelists. ,
The figures in the margin indicate full marks
Or ) .
Jor the questions
Examine briefly the nature of the poetry

of D. G. Rossetti and Christina Rossetti. 51 7Y e o - dxq=9

(e) Give an account of the general features
R w1 oft i3y Bz

of the ‘new theatre’ with special #) Refte o @ A

reference to the works of John Osborne, - *@q s MfeR .

Christopher Fry, Samuel Beckett, John () A’ G- @ el

Arden and Arnold Wesker. R

or (o) TR o’ @ R o1 7
Write a critical note on modernism in
English poetry with special reference to Q) XD I TP 7

W. B. Yeats, T. S. Eliot and the Auden |
group of poets. |

| (¢) RRRE INTR T IR IR SAKER
() Discuss the impact of globalization and , a2

Popular culture on the literature of the
post-modern ‘period.

(5) TR T R ) T L
* %k K '

(®) P ey R am R 2

8A—1000/306 3 (Sem-1) ENG L
. 8A/307 o ( Turn Over)




(2)

21 oY ot o (R R oREY) -

) E-8i

@) R

(%) IEF I

() P

(&) =c®

(v) SwiEn

o1 oy &es fimn (R e fofr) -
(F) -0 e B o2

() ‘omm-sReT Ry 2

ex9=5¢

(%) SRR (I SfeRM Wood  wigewal
|

(M) THEI oF SR Ry aft Grer o o

() wmmﬂfeamﬁﬁ?ﬁmaﬁﬂ
SIS SRCGHT |

S

IxX8=b

I
.
|
I
|
|
|

|

I
I

(3)

81 (¥) WM ERMRER T Rure &9

CTR-TROF 4P REF S IR IR &
CIRIR, SCEw F41 | so

ST

(A) TR T G SRR 7§ IS SR
Rz R oy, e F:41 1

¢l (F) ‘R, (N TE AT ¢ RYUER 1R
ST AT T 1°° A 79 | so

LAd)

C(}) WR-RAGE TRARS SRy am F PR
oIS SIS 41 |

1 () KIW AR IA-EE ToR's oS Sge
WRWGRI L Yo

T

(%) v o o (R e ) ¢x3=bo0
T @FRE No; TG ; wedm
S TR IR R IR G ;
Frafer 9

%* & %
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3 (Sem-1) NEP L
2017

ELECTIVE NEPALI

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. SiEHT W AEIAY, : ' 1x7=7

(%) A= @ TuliF-Fria et sRaw @
YR A 7

(@) wita = Ry
(M = Reww Fnda s wRa won fa?

(=) “g T PR = wfes,
W el T Tuet afhda;”’
Q Uk T e A7

(¥) ureTmH-iaia Adm weat @S TSRl
% &Y

() arrE ufeent 9| & A7
(3) ‘FuElE wRFeeH T g H A7
8A/315

( Turn Over )

[



2. g W RIAY : . 2x4=8

4. F @ TR TR ACEY

(2)

=) R TR T M
Ty & wd A
QA UfRF T HRaER 8 T Tww B B F

(@) fiiemn w@ht giam F-H g7

(M ‘& faew FRam sy wlg  ag ele
F-5 g7

(=) WA S F g§ FreA-Fhi T Aeger|

. T o T SW Ry

(%) i foarwr I e wega e

(@ W TR W Hawm ww EwwS
Rrafit wea TR o7

(M) S T v O AR TG
Fdl It R Rrg? v

(=), “geirEer S wEfeE e e

(¥) R RwEs d@I-ddar dim. Rooh
AETEY| :

5x3=15 |

10x3=30

() s aFiwr IR ‘w Rew Ham
ﬁ?ﬁﬁﬁmﬁmﬁﬁm@?m
agﬁmaﬂ?ﬁ@ﬂmmrﬂmm?

(3)

(@) wigaes < Tsﬂm IEH GEHIvS THE -7 F-
FE FEE WIS T%A TR

(M) R eEFE T FREE R g g

'(u)ﬁam%mﬂgmﬁqiﬁ -
TR e

) mﬁémmﬁwa@rm - w R
T A e 1 eRR e =t
TERA TA WA S AR A

(F) TR Hifim R TR SRga e

* %k %

PSP CURY . . | SU

8A/315 ' |
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